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SO2 | D-D | NOX || SO2 | D-D | NOX
0.010 | 0.078 | 0.210 || 0.017 | 0.078 | 0.000
0.015 | 0.073 | 0.110 || 0.013 | 0.047 | 0.050
0.024 | 0.092 | 0.200 || 0.008 | 0.082 | 0.040
0.014 | 0.070 | 0.080 || 0.030 | 0.021 | 0.010
0.025 | 0.113 | 0.230 || 0.050 | 0.040 | 0.020
0.015 | 0.064 | 0.090 || 0.060 | 0.035 | 0.030
0.007 | 0.063 | 0.100 || 0.008 | 0.045 | 0.140
0.016 | 0.075 | 0.080 | 0.009 | 0.074 | 0.040
0.011 | 0.072 | 0.090 || 0.007 | 0.039 | 0.050
0.025 | 0.074 | 0.140 | 0.007 | 0.059 | 0.050
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S0O2 D-D NOX SO2 D-D NOX
SO2 | 0.00004  0.00006 0.00017 SO2 | 51699.469 -18545.794 984.591
D-D | 0.00006  0.00020 0.00064 D-D | -18545.794 21437.981 -3404.288
NOX | 0.00017  0.00064 0.00308 NOX 984.591 -3404.288 972.949
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S02 D-D NOX SO2 D-D NOX
SO2 | 0.00106 -0.00008  0.00026 S0O2 1005.718 229.859 -177.462
D-D | -0.00008 0.00033  -0.00001 D-D 229.859 3122.613 -17.622
NOX | 0.00026 -0.00001  0.00145 NOX | -177.462 -17.622 721.140
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S02 D-D NOX SO2 D-D NOX
SO2 | 0.00060 -0.00002  0.00022 SO2 1759.155 327.758 -217.894
D-D | -0.00002 0.00027  0.00028 D-D 327.758 4357.819 -991.774
NOX | 0.00022  0.00028 0.00218 NOX | -217.894 -591.774 555.578
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